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RECODE - CREATE

[2&ES] 7
[E=018] v7
[H=&Z] [CRE] MO == (2 EE)

compute V7 =v7_1+Vv7_2+Vv7_3+Vv7_4+1H (20).

[2&HS] 27

[H2018] bb27_1

[H+49] [RE] &S J10 A2 Liet - HE
[B1~015] bb27_2

[Hd%] [RE] OIS It A2 Liet - FH
[2sH5] 28

[B1~015] bb28_1

[Hd%] [RE] RSS2 10 A2 Lt - HH
[#1~015] bb28_2

[Bid%] [RE] RSS2 10 A2 Lt - S
(28 5] 29

[B1~015] bb29_1

[H=&9] [RE] 01212 It o2 Uet - e
[#1015] bb29_2

[Bd%] [RE] OI2IS Dt A2 Uit - SH

recode b27_1 b27_2 b28_1 b28_2 b29_1 b29_2.

1891720336579 =1)

456711121314 1516 18 19 22 23 24 26 27 28 29 35 39 46 55 74 78 80=2)
25 30 32 36 40 43 45 47 49 53 58 61 68 75 81=3)

234821 3454566669 7176 82=4)

10 38 42 51 57 62 72 41 50 59 63 67 70=5)

3137 44 52 64 73=6)(83 84 97 98=77)(88 99 1000=1000)(else=copy)

into bb27_1 bb27_2 bb28_1 bb28_2 bb29_1 bb29_2.

(
(
(
(
(
(

value labels bb27_1 bb27_2 bb28_1 bb28_2 bb29_1 bb29_2.
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